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The number of elements in the power set of set {{a, b}, {c, d}, e}is

32

a2 {{a, b}, {c, d}, €} F TTAT T (power set) H T<AT (elements) FT H&T
RIS
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92862716002.

32

If A and B are two sets, then A - B will contain elements

Neitherin A norin B

Notin B, but in A
Notin A, but in B

Exists in both A and B
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TR AFTBITAZE, 79 A— B H T (elements) EIT
TATAHATATEIB H
BH T2l afd AH
AT Tel, afEa B H

AdARBIFTH

IfA={1,2,3, 4,5, 6}, then power set of A, P(A) will be having total elements

36

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

92862716012. 12

AT A={1,2,3,4,5,6), T A, P(A) ¥ a7 92 § T

(elements) 2T |

36
64

12

Dualof (A U B) N C will be

(AUB)UC
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(AnNB)NC
92862716014.

(ANB)UC

None of these

(A U B) N C &7 2T (Dual) i
(AUB)UC
(ANB)NC

(ANB)UC

TH | FE A0
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IFf '(x) = - 2x + 2, then f(x) is

-X+2

AT (x) =—2x + 2, ATF(X) T
—X+2

X—2
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92862716020.

A survey shows that in a city 63% of the citizens like tea whereas 76% like coffee. If X
like both tea and coffee, then

X=63

T AT FAATAT g 146 U 987 | 63% AWT® F1T ST 76% Fiht T07=
g | TR X% AT AT FHIhT T H TH9= Fid g, T4

Vi oy
A= 0D
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X=76
92862716022.

39=X<=63

63<X<=<76

LetA={1,3,5}and B={2, 4, 7}. If arelation R is defined as R ={(1, 2), (3, 4), (5, 7)},
R is defined by

{(1,2),3,4), 7, 9)}
{(1,1).(3,3), (5,9}
{2,2),(4.4),7, 7}

{2,1), (4 3), 7,9}
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Correct Marks : 1 Wrong Marks : 0
A AT A = {1, 3, 5) ST B = {2, 4, 7). =% 9= & da
R={(1,2), (3, 4), (5, 7)} ¥ =7 & dee R afrarfia gmm, aa R s
s & 2

{(1,.2),(3,4), (7, 9)}
{(1. 1), (3, 3), (5, 9)}
{(2,2),(4,4),(7,7);

{(2,1),(4,3), (7,9)}

Let A and B be sets and A" and B denote the complements of A and B respectively, th
set(A-B)U (B-A) U (AN B)isequalto

AUB
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ANB
92862716030.

A" U B

A" nFE

AT AT A 3w B 32 £ &7 A” 3w B” FH9T: A2 A i B F oA
(complements) &1 Y=f9T F¢d &, 992 (A-B) U (B-A) U (A N B)
e THT g ?

AUB

ANB
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Question Number : 9 Question Id : 9286274196 Question Type : MCQ Option Shuffling : Yes Is Question N
Correct Marks : 1 Wrong Marks : 0

If set A has p elements and set B has g elements, then the number of elements in A X

Pd

P+q

o |o

IT T2 AH p 974 (elements) 2 AT TZ B H q = 2, T A X B H d<41
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Pq

92862716034.

pq

In a school there are 40 teachers who teach Mathematics or Physics. Of those 24 teac
Mathematics and 8 teach both Physics and Mathematics. The number of teachers in
Physics are

20
16
26

24
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Correct Marks : 1 Wrong Marks : 0

U Tl § 40 T9reh g S 00 AT Qi s a7 921 g | 39 7 24 Tin
I 8 ATTde A= < 0T 1 98T 2 | Atiaeh (o= & forersht =it &7

g
20
16
26

24

If X is a Column Matrix, then its transpose is

Column Matrix

Diagonal Matrix
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92862716043. ZaroMatnx

Row Matrix

Iis X U Hiarq HigHFT g, 99 THHT TATTL0T (transpose)
2=t fe= T (Diagonal Matrix)
L AT

7T (Row) dfes

If X is a skew symmetric odd ordered matrix of integers, then

is true.
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det (X) = 16
92862716045.
det (X) =0

det (X) = 4

det (X) = 2

= X quitant (integers) T T HIHICH AlS SAES HIHT g, qT
Tl g |

det (X) = 16
det (X) =0
det (X) = 4

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

det (X) = 2

92862716048.

If X is a Square Matrix, then its transpose is

Column Matrix
Row Matrix
Null Matrix

Square Matrix

Tis X U T < JigHT g, 99 291 T47q< (Transpose) 2
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7T (Row) &fe=

92862716050.

9= (Null) AT

T (Square) #ieFT

If X is a Matrix and its determinant is zero, then it is
Singular Matrix
|dentity Matrix
Square Matrix

Non-singular Matrix
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afs X m= #feFa g &7 soet fEe<fHde (determinant) 7T g, a9 I8 8
|

T dfeaT

AiA-fEee JfeFT

If X and Y are Square Matrices and their degrees are equal, then is true.

X-Y=Y-X
XY =YX

X =¥V X
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N =X ¥
92862716060. X=Y=X+¥

af=z X 37 Y Tprae dfeaa g o gt i awme 2, 99 Tl g

X-Y=Y-X

XY =YX

X+Y=Y+X

X-Y=X+Y

A dice has been made in such a way that every odd number is likely to occur twice tha
even number. For such a dice what is the probabity of getting a number 4 or more in a
single throw of the dice ?
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92862716061.

w| M

0| &

M| =

= 129 (dice) FT 0 938 & TA™T 747 g 3 77 "1 it o1 # 94+
T H=gT 27 A7 AT 2 | 39 T 0 129 & {1y, U 977 ek ST 9%
HEAT 4 AT AT AT T ITEAFAT (probability) FAT g ?
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92862716062.

Given three events A, B, C and it is given that

P(A N B)=P(A)+P(B)
P(A N C)=P(A)+P(C)
P(B N C)=P(B)+P(C)

then which of the following is true if the events A, B and C are independent ?

No additional condition

P(AU B U C)=P(A)«P(B)+P(C)

www.FirstRanker.com
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P(AU B N C)=P(A)
92862716067.

P(AN BN C)=P(A)«P(B)-+P(C)

a1 Z42d (events) A, B, C T Tz 2 &fw fRarar g

P(A n B) = P(A) - P(B)
P(A n C)=P(A) - P(C)
P(B n C)=P(B) - P(C)

a9 Hafertad § 9 F9-a1 981 g, T2 A, B 3T C F&T0 &F=a =
(independent) g ?

Tl ATA <= 919 (condition) Tl

P(A U B U C)=P(A) « P(B) - P(C)
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P(A U B N C) =P(A)

92862716067.

P(A N B N C)=P(A) « P(B) » P(C)

An experiment has four possible outcomes A, B, C, D that are mutually exclusive. Give

8 45 27

46
the values of P(A) = 120 P(B) = 120 P(C) = 120 and P(D) = 120" then what is the

probability of A and B to occur together ?

sl
120

66
120

The given probabilities are incorrect.

You cannot determine the value of P(A) + P(B) from this information.
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Question Number : 18 Question Id : 9286274205 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

U= TEE0T % FTE A9 90 A, B, C, D 2 ST arad #/ f379rg (mutu
exclusively) g | TROTTHT #it TEfATET 20 T IS 2

9 45 27 46
P(A) = 125 P(B) = 1551 P(C) = 155 ¥ P(D) = s ¥ T R amy

9 A T B & TF AT A= T ITAFHAT (probability) 4T (T 2

9
120
66
120
2 T Ty Tq 2 |

Z8 T=AT (information) & P(A) + P(B) 9T &7 feateor F2f f
qehdT |
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A fair coin is tossed four times. Which of the following is one of the correct values for
probability distribution function F(x); where x is the number of heads appearing in the
tosses ?

5
F(x)=ﬁfur05x-=:1

11
F{x]=ﬁfor2£x-=:3

F(x)=1forx=3

F(x)=0forx=2

U 9 T (fair coin) FT =FTT AT IHAT SITAT 2 | ATAFHAT Fed Fead
(probability distribution function) F(x) = foro srfafaa & & g9 oo
FA-AT 21 A1 (values) § T U= g, (2l 97 x, Fr Igra oz g5
Trafaferer g) ?
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o£x-.:1azﬁw(x)=%

92862716073.

2<x<3FRMTF() = 1<
x> 3% T F(x) =1

x=2F T F(x) =0

A manufacturer has a probability of 0.80 for making an order ready in time. Also the
probability that an order will be ready and delivered in time is 0.72. What is the probabi
that an order will be delivered in time, if it is ready in time ?

0.7
0.8

0.9
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92862716080. 10

T e haa<T & [0 SA(eT Tl THT IT T &7 % (o7 0.80 F¥ Ariashar
(probability) T | FTT ZT AT I AT TZ T Fe A< AT T2 Al
TTTAHAT 0.72 § | THAar #I7 g 3 T e i 997 a7 fAgha

STONTT, 1= Tg FH7F T2 94 2T ?

0.7

0.8

0.9

1.0
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If X is a continuous random variable and value of its probability density at t is f(t), then:

X
function given by F(x) = P(X=x) = f ft) . dt for—o« <x< =

is called of X.

Cumulative distribution

Cumulative probability
Additive probability distribution

Uniform distribution

If< X T Fad ATg=5F =7 (continuous random variable) g #¥ t I 2

ITTAFAT SPET (1) 8, T — © <x< = Hfamw

X

F) = P(X<x) = [ (). dt Zrer fRer ararm shaperer X T

: h
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I=4T F29 (cumulative distribution)
92862716081.

I=AT 9T
ufefea wrataterdT Sftespm

FHTE = (uniform distribution)

The probability of recovery of a person from a disease is 0.8. The probability that 7 out
10 persons will recover from the disease will be approximately

0.15
0.20
0.25

0.30
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Question Number : 22 Question Id : 9286274209 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

et ST | 37 gIa &l U =ik it Gria=ar 0.8 g | 10 § 7 7 =riwrd
STHTET T B0 Zre il AT TTTAHAr 4T gHEfT 2

0.15

0.20

0.25

0.30

Given that a random experiment has two possible outcomes, success and failure, with
probability 'a’ for success and (1 — a) for failure; then Bernoulli distribution for a randornr
variable X will have probability distribution as which of the following ?

fix;a)=a (1-a) “forx=-w=towx

www.FirstRanker.com
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fix;a)=a" (1-a' “)forx=0, 1
92862716090.

fix;a)="Cxa (1-a) “forx=1,2, ..n

fix;a) = ‘Cxa“ (1-a) “forx=0, 1

2T 37 8 & U Argf=g® 75740 (random experiment) H THadT # ¢
'a’' AT FAFAAT F 1T (1 —a ) F ATT AFAAT AT ATFAAT 31 FGATAT
I g | 9 UF A15=g® 97 X & o aat sed (Bernoulli distributi
H grfasrar sz Fafafes & =0 8§ fi9-ar1 g 2

= _oToFfmixa)=a (1-a)

x=015fmfxa=a (1-a )

x=12 . n¥Efmfxa)="Cia (1-a)

www.FirstRanker.com
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2 1-
x=0,1FfTf(x;a)= Cxa (1-a)
92862716092,
Which of the following distributions has p=0ando =17

Standard Poisson distribution
Uniform distribution

Standard Chi-square distribution

Standard normal distribution

taferiaa 5 & 3% 529 (distribution) ¥ p =03 o =13M@TE ?

FeT ATed fefegsqe

www.FirstRanker.com
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T Rftesge

92862716094.

TigE Fe-Fae Eftzeram

Téee Aiga RfResgem

A balanced coin is flipped and a dice is rolled, what is the probability of getting heads i
coin flip and number 5 in the die ?

www.FirstRanker.com
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= w

92862716100.

U Hqfed (4 (balanced coin) SETAT AT g 3 TF 1% (die) Tl o
T, T8 =1 I UT 2T F A ST TTE H 5 F A AT ATAEHAT FT S ?

AW

www.FirstRanker.com
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Correct Marks : 1 Wrong Marks : 0

A statistical test used to determine whether a correlation coefficient is statistically signif
is called the

One-way analysis of variance
t-test for independent samples
Chi-square test for contingency tables

t-test for correlation coefficients

T U AgHad 0 (correlation coefficient) AT 7 § Ag=a Q0
7z T #7a F T S qifeadir e 51 330 &y ST 2, 98
FEaTar g

THOT (variance) FT T 9<% (one-way) Ta&wr
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AT Ifa59T (sample) F T t-a¥yer

92862716102.

FIESHT 2o % (10 FTe-FFHTa< T

A e T (correlation coefficients) & ferT t-o<reror

Which percentage confidence interval will be the widest (i.e., the least precise) for a
particular data set that includes exactly 500 cases ?

99%
85%
80%

80%
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Correct Marks : 1 Wrong Marks : 0

FIF-AT FTA91T FIThe T HG<TA (percentage confidence interval) T
<TeT 9 (data set)  forT sa sifers sama=/= 1T (widest) (T F9-9-
3t (precise) g, T5H 3 500 ¥ (cases) ATHT g ?

99%
95%
90%

80%

A Type-ll error is also known as

False Positive

False Negative
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Double Negative
92862716111.

Positive Negative

area-11 Ffe F1 eferiaa § 7 s =0 § 91 =7 J1a71 8 2

o Jcd
TIA e

The difference between a sample statistic and the corresponding population parameter

www.FirstRanker.com
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Sampling error
92862716113.

Standard error
Difference error

Simple error

TF Fid=sel ATt (sample statistic) 3T 2T (corresponding)
T TTHET & 31 T a7 2

wia=er = (Sampling error)
HqT9= 3[fe (Standard error)

#a< i< (Difference error)

2 EAT ?l__fr" (Simple error)

www.FirstRanker.com
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Question Number : 30 Question Id : 9286274217 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which of these measures are used to analyze the central tendency of data ?
A. Mean

B. Median and Mode

C. Standard Deviation and Range

D. Mean and Normalization

A only
A and B only
C only

C and D only
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#iFeT (Data) #F1 F51 T9+T (Central Tendency) FT fg[wor 7+ = form
TAH | -8 IUTAT T TART 37 AT 8 2

A. HTET (mean)

B. #ifeaw dw At

C. T¥¥ge AT 8w i

D. 9T (mean) 3T ATHATZ 9
FaeT A
Faq A d7 B

Fga C

Fgq C AT D
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A test is administered annually. The test has a mean score of 150 and a standard devi
of 20. If Ravi's z-score is 1.50, what was his score in the test ?

180
130
30

150

T TEAT Tods AT ol STal g | TEIEAT F0 {19 ThiT (mean score) 150 3
q1e T9=a (standard deviation) 20 g | If3 7= T z-=%1¥ 1.50 g, T
TEVAT H FHFT THIT FIT IT 2

180

130
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92862716123.

150

If a positively skewed distribution has a median of 50, which of the folloiwng statement
true ?

Mean is greater than 50.

Mean is less than 50.

Mode is greater than 50.

Mean and Mode both are greater than 30.

IS T HHRT<IHT BRI fevesq91 (positively skewed distribution) #

=T [ [ =—---=lrp_=- T IT S T T Tl "':)

www.FirstRanker.com
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Options :

frr, 50 & @A 2

92862716125.

Hi9, 50 ¥ FH 2 |

e, 50 & AT 2

HIe 1T AT =11 50 7 ATEF 2 |

www.FirstRanker.com

Which of the following summary measures is most affected by outliers ?

The median

The geometric mean

The range

The interquartile range
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Question Number : 33 Question Id : 9286274220 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

AZEATIH (outliers) T MHTaiag § & FHH-AT 9T H(< (summary
measures) A& TATAT grarT g ?

HI2 79 (median)

AT TS H19 (geometric mean)

Which of the following cannot be easily approximated from a Box-and-Whisk

Range

www.FirstRanker.com
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Interquartile range
92862716134

Second quartile

Standard deviation

tafariad o 7 f=a aiwa-us-f2geH7 (Box-and-Whisker) =i (Plot) &
AT § ATHTIAT (approximated) FaT ST G=haT g ?

rége AU

www.FirstRanker.com
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Question Number : 35 Question Id : 9286274222 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which of the following is nofa measure of variability ?

Median
Variance
Standard deviation

Range

Feferfad 5 & Fa-57 IRt T 9 qgi g ?
EHERE]
T (variance)

veTe AT

www.FirstRanker.com
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92862716140.

For decreasing the number of iterations in Newton-Raphson method
The value of f'(x) must be increased
The value of f "(x) must be decreased
The value of f'(x) must be decreased

The value of f"(x) must be increased

EA-TTHIE §9€ § QAL al (iterations) Fit H&AT F#H F3d & {70

f'(x) T AT (value) TZAT ATRT
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f"(x) T AT TeAT ATZT

92862716142.

f'(x) T AT FeAT AT g0

f"(x) T | TZAT AT

Xy + nh h
f foddx = = [(yo + o) + 401 +ya + o + ¥, ) + 20y, +ys + oy, 2 )]

Xy

is the formula for rule.

1

Simpson's 3 rule

3
Simpson's 3 rule

Composite Simpson's rule
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Trapezoidal rule
92862716148.

¥, + nh h
fxﬁ f(x)dx = = [(yﬂ +¥) + Ay +Ya Y ) F 20+ Yt oY,

f & o wmigar 2
ﬁltw-rr%%ﬁw

ﬁfltw-rr%%ﬁw
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b

Error in Trapezoidal rule, while evaluating f f(x) dx is
a

~(b — a)

—1z Mte
29 g

b
f f(x) dx =T HeAT=e FTd T9T o« 99 (Trapezoidal rule) H T

(Error) g |
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—6 23 g
0286271614,

—b -3 i

—b -2 gy

03 2y

www.FirstRanker.com

The product of averaging operator (4) and central difference operator (3) is

1
E(ﬂ +‘?)

1
E[ﬂ - V)
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AL 2
92862716155.

AZ— G2

TA LT ATTET () AT HEo BRI AT (8) FT [0+ (product) 2

1
E(&-l_?)

1
E(ﬂ—?)

A= g
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When square of shift operator (E) is applied on X" then the value of E°X’ =
the value of x varies by a constant increment of 2.

X +8x+16
X +8
X +4

X +16x + 8

& faree At (E) #7157, X 9% W] FhT ST 2, 78 E X
g, STgl x T |19 2 it f¥I7 (constant) Ftg & =T (vary) g |

x° + 8x + 16
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92862716158.

X + 16x + 8

The averaging operator () is defined as

www.FirstRanker.com

(EV2 4+ E- 1/2)
M= 2

_ {E‘HE — B 1;’2)
H 2

_(E-E?
H= 2
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_ [E+E )
92862716164. 2
TSI AT () F =Y § qieariud &1 JEr g |
(EH’E + E- 1;’2)
= 2
(EH’E ws B 1!2)
= 2
_(E2-E?
K= 2
(B2 +E?
H= 2
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The Jacobi's method is a method of solving a matrix equation, on a matrix that has no .
along

Leading diagonal
Last column

Last row

Non-leading diagonal

Sttt fafer Afeas gt it gor F2 $i us vet &ty g, Sy afesw
9T U¥ Jgl grar |

dife T 21519 (Leading diagonal)

AT FHTAH
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a9 7T (Last row)

92862716167.

"_'ﬁ'_"l-'al I Ig:l s I%il I'-' |K;|

The limitation of Gauss-Seidel method is that

it cannot be used for the matrices with non-zero diagonal elements.

it is more complex than Jacobi's method.

it does'nt guarantee convergence for each and every matrix.

it is an iterative technique.

TTIA-HTed HIE Hil HHET (limitation) =
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THHT TART AA-ST SR Uferd e & for 721 53 o &=

92862716169.

Ig THET § HAS F ATHF S g |
g Tis RiEFT (matrix) F T Feasted #if AT 71 24T |

Tg T glediced qoheih g |

Which of the following method is employed for solving a system of Linear equations ?
Runge-Kutta
Newton-Raphson

Gauss-Siedel

Simpson's Rule
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Question Number : 44 Question Id : 9286274231 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

fAaforiaa & o -4 [3ta ¥ 9907 (Linear equations) Y01
A Foel & T o= T AT g ?

MSa-HiEd

g w1 AT

In solving simultaneous equations by Gauss-Jordan method, the coefficient matrix is
reduced to matrix.

identity
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diagonal
92862716178.

upper triangular

lower triangular

MEA-STTed 99 H TG T2 (Simultaneous equations) T g

H T HiEHT (coefficient matrix) T #feF § erav/asar A
=
Q

=7 (diagonal)

AT ZTEU[AY
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Question Number : 46 Question Id : 9286274233 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

The least number of operations to solve simultaneous linear equations are done Iin
method.

Gauss Elimination
Gauss-Jordan
Cramer's Rule

Back Substitution

T ¥ FHE (simultaneous linear equations) T g Fed # {t
AT T AT (least) HEAT e o it ST g |

IS RUEIECET)

MIA-TieH
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o7 AT

92862716183.

T A =9

Which of the following transformation is allowed in the Gauss-Jordan methoc
Swapping a row
Swapping a column
Swapping two rows

Swapping two columns
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Fefofad 5 ¥ f9-7 ZMRHaT Tea-sied A § 3999 (allowed) £
gk (row) T =TT (swapping)
FIAH =l TATTUT
=T TRt (rows) T ETIOT

=T FIAT AT FATET

Which of the following method is an iterative method ?

Gauss-Jordan
Gauss Elimination

Gauss-Seidel
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Factorization
92862716192.

Feferfad 5 & Fa-Hr =t v gfedfed (iterative) =TT 2 2

MTSA-S1eA
MTeT TferfaeerT
MSa-9sd

TS

The points where Newton-Raphson method fails are called points.

Floating
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92862716194. Conlinuous

Random

Stationary

o faegat 9% =Ea-TrH e 39 % g g, faeg FigaTd 2 |

FATied (Floating)

Add (Continuous)

T35+ (Random)

f¥97 (Stationary)
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The convergence of which of the following methods depends on an initial assumed val
False position method
Newtons Interpolation method
Newton-Raphson method

Euler's method

faforias 792 9§ 7 F19-9 392 1 Af9977 (convergence) TR +FI=
Fiead 719 (initial assumed value) 7% 797 F:7dT 8 2

o TS 1919 HIS

=T T Avq=9 (Interpolation) #7€

FIEA-TTHA 7S
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92862716200.

Which of the following step will notbe a part of "Arithmetic Pipeline" for floating point
number addition ?

Comparing the exponent

Normalise result
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Align mantissa
92862716203.

Execute operation

FATEAT TATe e < U= 19Td & TorT fqsforiad § 7 F19-97 39 (step) “Ti
TTETATET T TF AT 7@l a[ I ?

HTd1% (exponent) =T TAAT

ATATA TS 0T

FATEA HerdT (align mantissa)

TSt 12 AT
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Which of the following sequence of micro-operation is correct fetch cycle ?
MAR « PC; MDR « M[MAR]; IR « MAR; PC « PC + 1
PC « PC + 1; PC « MAR; MDR « M[MAR]; IR « MAR
MAR « PC; MDR « M[MAR]; PC « PC + 1; IR « MDR

MDR « PC: MAR « MDR: IR « M[MAR]

HIZAHI-ATTI FT HHfead 5§ FF-97 FF Tgl 7F G156 g ?
MAR < PC; MDR + M[MAR]; IR + MAR; PC < PC + 1
PC «- PC+1; PC - MAR; MDR « M[MAR]; IR « MAR

MAR «< PC; MDR - M[MAR]; PC «~ PC + 1; IR <« MDR
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MDR < PC; MAR <~ MDR; IR « M[MAR]

92862716208.

Consider a RAM of 16 K bytes memory, which is byte addressible. This RAM has a dir
mapping cache of 64 lines with each line of size 4 bytes. A main memory address 01 1
1001 1101 may be found in the line of cache.

2gth
3 1 sl
39th

41"
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16 K 3T A9 a1 T RAM 9% {331 $itferT 51 e usfaeer
(addressible) 2 | = RAM ¥ 64 @21 T U= ST U 9T (cache
AT TATF AT 4 ATSE AR AT g | F9T (cache) FT =57 @27 § U= A7
FEET U 01 1111 1001 1101 UTE STAT 2 ?

2977

3141

39T

41T

Which of the following modes of transfer is best suited for keyboard input to a program
being executed by a uniprocessor system that does not support multiprogramming ?

Programmed I/O

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Interrupt-driven 1/O
92862716214.

DMA

Direct to processor

A T ITTHAT &l TS 7 T ATl U T HE FTET oo (¢
TITH % Hi-are (keyboard) 9= & fom Fwfafa & o -
HATE (Mode) AATTEH TIIATF & ?

A ) KA R N2 2 K
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Question Number : 55 Question Id : 9286274242 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which of the following gates is logically equivalent to the circuit shown below ?

B

A —

NOT

NOR

OR
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fAsforifaa & & F9-A7 T2 (gate) AT+ (logically) =7 T #1= {307 77 Hf
F TH19 (equivalent) g ?

e
e T

NOT

NOR

OR

AND
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The chromatic number of the following graph is :

O
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What is the time complexity of Dijkstra's shortest path algorithm having N vertices?
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O(N’)

92862716227.

O(N log N)

What is the number of different topological orderings possible in the following graph ?
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92862716232.

Rersrforfere o & dfa (possible) TR Zrdertefy sisf iy g =
39
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Question Number : 59 Question Id : 9286274246 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which one among the following statements is true with respect to K3, 3 and Q3 graphs

\' V
1 vz 3
Vy Vs Ve
Ks, 3 Qs

Both K3, 3 and Q3 are planar graphs.

Both K3, 3 and Q3 are non-planar graphs.

K3, 2 is a planar graph but Q3 is non-planar graph.

K3, 2 is a non-planar graph but Q3 is a planar graph.
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Question Number : 59 Question Id : 9286274246 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

K3, 3 @T Q3 UTHT F H=g § [HfertaT § 7 FF-97 FI47 951 2 ?

\ \'
1 v, 3
V4 Vs Ve
Ks, 3 Q3

K&g@?QgﬁWW%I
K&gﬁ?ﬁgﬁﬁﬂﬁ-wmgl

K3, 3 T Toiq< ITH B, A Qg AF-5AZ ATF 2 |

K3, 3 T qI9-%A9< qTH 2, @ihe Qg T TA=< ITH 2 |
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Question Number : 60 Question Id : 9286274247 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true with respect to graphs G1 and G2 ?

e
a > c
c . d
I W
1' __-‘-: d "ﬁ.l" "'n"r
b a > b
Gy Ga

Both G1 and G2 are Euler circuits

Both G1 and G2 are not Euler circuits

G1 has Euler circuit but not G2
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G> has Euler circuit but not G1
92862716240.

UTH Gq AT Gp F "oy H Awforiad | T FI9-A7 97 (statement) TET 2

W

o
W
o

G, Go
G1 #1T Gp T @7 (Euler) Af#e 2

G 9 Gy T e AT S &
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G1 | To¥ Hiwhe g, e Gp | 721

92862716239.

G2 H T Ai*e g, @i G4 H 721

In HTML < a = and < /a = tags are used for
Adding List
Adding Image
Adding Link

Adding Table

HTML & < a > 3T < /a > 239 T JOR7 foaa forg & srar g 2
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92862716241.
TS THST
‘_E ﬁ
Ufed 2ad
DOM is abbreviation of term in context of XML.

Document Oriented Model

Distributed Object Model

Document Object Model

Derived Object Model

www.FirstRanker.com



:l » FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 62 Question Id : 9286274249 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

XML ¥ ¥59 ¥ DOM 9Tea1 =T |ieTH =7 (abbreviation) T |

Which technique is not used for session tracking in Servlet Programming ?

Cookies

URL Rewriting
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92862716251, idden Form Field

Servlet Session Filter

a9e (Servlet) TRITHHT § T917 (Session) 21T & o FHTH-HT T 14
T 7l (AT AT 2 ?

TS

URL f=refe
2= wiH fiee
qaoe 4919 fhoe

—Hew-many-types-of constructorsare there e+ 20—
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Options :
92862716253.
2
1
4

c++ H Fde T=1T % Fwz#2H (constructors) 214 g ?
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Question Number : 65 Question Id : 9286274252 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

A line can be represented by
One point
Two points
Three points

None of these

U 3T (line) FT & g M= f=ar ST asar g ?

T faeg
37 fargat
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i Faegei

92862716259.

Consider the following relations :

Customer (id, name, phone, address)
ltem (itemid, item_name, price)
Sold_item (id, itemid, quantity)

and the query : "List the itemid, item_name and total of quantity sold for each item, for
sales for which sold quantity is more then 10." The equivalent SQL statement would be

SELECT s.itemid, item_name, sum(quantity)
FROM ltem, Sold_item s

WHERE ltem.itemid = s.itemid

GROUP BY s.itemid, item_name

HAVING sum(quantity) = 10 ;
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SELECT s.itemid, item_name, sum(quantity)
FROM Item, Sold_item s
WHERE quantity > 10

GROUP BY Item.itemid, item_name
92862716262.

SELECT s.itemid, item_name, sum(quantity)
FROM Item, Sold_item s

WHERE ltem.itemid = s.itemid AND quantity > 10
GROUP BY Iltem.itemid, item_name :

SELECT itemid, item_name, sum(quantity)
FROM ltem

WHERE quantity = 10

GROUP BY itemid ;
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et geat 97 A= fifer

Customer (id, name, phone, address)
ltem (itemid, item_name, price)
Sold_item (id, itemid, quantity)

A7 TEATE (query): "ATZER FiT AT B, ATTEH FT AT T TedT AT
forT & = T2 7, et e forg =0 1 9= 10 7 a8+ 2, f 0=
FaTzw" & forw SQL F9+ g -

SELECT s.itemid, item_name, sum(quantity)
FROM ltem, Sold_item s

WHERE ltem.itemid = s.itemid

GROUP BY s.itemid, item_name

HAVING sum(quantity) = 10 ;

SELECT s.itemid, item_name, sum(quantity)
FROM ltem, Sold_item s

WHERE quantity = 10

GROUP BY Iltem.itemid, item_name
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SELECT s.itemid, item_name, sum(quantity)
FROM Item, Sold_item s
WHERE ltem.itemid = s.itemid AND quantity > 10

GROUP BY Iltem.itemid, item_name :
92862716263.

SELECT itemid, item_name, sum(quantity)
FROM ltem

WHERE quantity > 10

GROUP BY itemid ;

Given the following instance of a relation R(A, B, C) :

A B cC

aj b1 C1

ai bo c2

aq b4 Co

an ba c3

Which of the following functional dependence pair will be held for the given instance of
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02862716265, 1B > CandC B
BCoAandB-=C
BCo>AandA-C

AC-BandB- A

A9 R(A, B, C) T fsferi@ra I3 (instance) AT mar g -

Al B | C
a1 | b1 | c1
aq | b2 | c2
a1 | bz | c2
a> | bg | c3

et 7 7 F19-971 FFeEo fUsa 907 R F 37 70 IITZI (instanc
UT AN ZRIT 2
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AB->C3TC-B

92862716265.
BC - A3iTB-~C
BC-A#TA-C
AC - B3 B~ A
Semi-join operation is an important operation for query optimisation in DBMS

Object-Oriented

XML

Distributed

Geographic

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 1 Wrong Marks : 0
DBMS ¥ F3 Aiftenreare™ & form aHi-sarea afaved v+
HETALOT AT 2 |

XML

Which of the following is an example of unsupervised learning ?

Classification

Clustering
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Regression
92862716275.

Association rule

fFtorad § | FIF-97 ATd41erd 1917 (unsupervised learning) &1 UF
SRR E ?

Tt 0T (classification)
FACAT
EONE]

THI T &

Which of the following is nottrue about NoSQL databases?
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Options :
NoSQL databases have a higher scalability than RDBMS

92862716277.
NoSQL databases are good platforms for distributed computing

NoSQL databases can process semi-structured and structured data

NoSQL databases support all ACID properties of transactions

NoSQL TTersr ¥ weier & frsrforfra & & #iw-ar oy 7grs 2

RDBMS #T U&7 NoSQL STeTa# | Te ol fa il (scalal

NoSQL =Terew fTResase Fveies & [T s=g wewiv

NoSQL TTeTe FHI-Tea=T A7 Teaae STal il YT FiT Tohd
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NoSQL =TeTa¥ i Fit ACID TTIETsT il H97 F7d ¢

92862716280.

A process executes the following code :
for (i=0;i<n;i++)fork();

The total number of child processes created is :

n

2

o

o ol
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= TTHAT (process) fMafertara e #1 A= T (execute) AT 2 :
for(i=0;1<n;1++)fork() ;

9 ATz (child) JTHHT T T H=AT

n

-
2ﬂ
2{n+’l}_1

Which of the following is nottrue of deadlock prevention and deadlock avoidance
schemes ?
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In deadlock prevention, the request for resources is always granted if the re

safe.
92862716285.

In deadlock avoidance, the request for resources is always granted if the re
safe.

Deadlock avoidance is less restrictive than deadlock prevention.

Deadlock avoidance requires knowledge of resource requirements a priori.

o O O F19-97 SSai® (a9 AT S s AaTae T TniHl & o
T 2

seAlE ared §, RS % o e it gHaT S Har
TTYOTTH T FaET (state) & 2 |

sTAlE sAIe T |, A & for s &t gHem S &
TTOTTH T FTaeIT (state) HEET 2 |
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STAIE (AT Hil ATAT TSI AATASHT FF T8 (restric

92862716287.

STAlH AATASH &l W THAET (priori) FET RFmde Fi aras
B

In which one of the following page replacement policies, Belady's anomaly may occur
FIFO
Optimal

LRU

MRU
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afortaT o feamde gifaf@ § 7 & uF § a9t uaig«ar (Belady'
anomaly) B T4l g ?

FIFO
Aifceaa
LRU

MRU

The essential content(s) in each entry of a page-table is/are
Virtual Page Number
Page frame number

Page offset
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Access right information
92862716296.

UST-2ae il U2l § 47 Afqard F2e (content) § ?

A AT U 7

ST W AHT
U AFHE

AT T=AT HT 9gA (access)

Which of the following need not necessarily be saved on a context switch between
processes?

General purpose registers
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92862716298, Translation lookaside buffer

Program counter

All of these

fraforias & & e 99as & &= #FicF= (context) 9= 9% 57 (save)
FLAT LT Aglarara?

S TS TioTeeT

ZTHAINT AH-AATZE TR
TRITH FTIE

T TAT
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Correct Marks : 1 Wrong Marks : 0

Project Closedown Review is done in phase of Software Development Life C
(SDLC).

Analysis
Design
Coding

Maintenance

TFEATL STATHE AT AT (SDLC) F TS H TISiFe FAT
=13 o=y T Sirar 21

EEER

IESLES]
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92862716303.
Software may use scarce resources at level.
Efficiency
Validation
Reliability
Portability
AIFEATT Tq7 97 5o (scarce) HHTEAT &1 YA T qHaT g |
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4741 (efficiency)
92862716305,

ATT=7T (validation)

framofafereT (reliability)

UTefaterer (portability)

Automated estimation tools cannot predict

Customer demands
Software cost

Project schedules

Human Resources needed

www.FirstRanker.com
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Question Number : 78 Question Id : 9286274265 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

AleHeT THTHH 2o FT QATTATT 7T HE Tl |
TS HTHET
AFEAAT il AT

grsia Tt (schedules)

ATFITH O Tarea+

Whenever a change is done to software that is in use, is done to ensure that
performs.

Regression Testing

Unit Testing
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Module Testing
92862716315.

Integration Testing

U Fed G9T qiFeaay § o 547 9faqaa FFar smar g, 99
TEaRET s s T e e i s ww = 2 |

arer =T

7] i
i SIee

IEU9 2T
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Correctness of software is measured in terms of
Errors per KLOC
Defects per KLOC
Number of reserved words per KLOC

Number of pages per KLOC

% =Y H a7 Hil 93 (correctness) T HTIT STAT ¢ |

gtd KLOC F[i¢ (errors)
gid KLOC 31T (Defects)

gta KLOC T=fera ersat it 97T
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gfa KLOC TgT (Pages) it d&aT

92862716320.

traversal shall print elements in sorted order in a Binary Search Tree.

Postorder
Preorder
Inorder

Both Postorder and Preorder

U ATeAL O a1 § =J9 (traversal) <371 (elements) FT #9
(sorted) FH F o= F1T |

Ul Erc (X
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92862716322.

#9 H (Inorder)

qreedre? e et a9 #

The time complexity of search algorithm is O(n) in worst case where 'n' is the
number of elements.

Hashing

Linear

Binary

Indexed
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T TATTTE] i 2T8d Fied el (complexity) & @<re £
¥ O(n) 2, 2t 'n' =41 (elements) FT H&AT 2 |

giomT
EIIEEES
AT AT

Bk 2o

If an AVL tree has 'n' nodes, then its maximum height is

www.FirstRanker.com
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log (n)

92862716331.

nlog (n)

72 TF AVL 21 | 'n' 1T g, T 391 ATaFdH SATs

log (n)

n log (n)

In Breadth First Traversal on a graph, data structure is needed.
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92862716333. Tres

Queue

Stack

Array

TH AT 9¥ 559 (Breadth) wFe a9 |

el & |
ar
¥ (Queue)

T

www.FirstRanker.com

STaT TFAL 3

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

U7 (Array)

92862716336.

is not an in-place sorting algorithm.
Merge Sort
Quicksort
Heap Sort

Bubble Sort

U SH-TAH TIeT AT 1] Al ¢ |
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92862716338.

Given the four regular expressions below, find which two are equivalent ? (g is the emf

string)

i. 00%e+0)

i. (00)"

ii. 0"

iv. 0(00)"
(i) and (i)
(ii) and (iii)
(i) and (iii)

www.FirstRanker.com
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(iii) and (iv)
92862716344

= =17 Fatsa Af9=I=Fat (regular expressions) 31 < g, F4T50 &

FIA-HT ITHATT 2 ? (€ FTAT ¥ 2)
i. 00*e +0)
i. (00)*
nm. 0¥
iv. 0(00)*
(i) 3T (ii)
(ii) = (i)
(i) & (iii)

www.FirstRanker.com
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(iii) &7 (iv)
92862716344,
The language L = { a"b" |Kz1)is
Type-3 grammar
Type-2 grammar

Type-1 grammar

Type-0 grammar

aTL={a'b |K=1)%

2rga-3 UTHT

www.FirstRanker.com
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2Teq-2 UTHY
92862716346.
2req-1 mHT
cr=q-0 9mHT
The following statements belong to grammar.
S -+bS
Sob
S—aA
A - bA

Type-3 grammar

Type-2 grammar

www.FirstRanker.com
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Type-1 grammar
92862716351,

Type-0 grammar

fAaforfad Fa UTH F HH1AT 2 |

2rgq-2 UTHT
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area-1 ATHT

92862716351.

2req-0 ATHT

The grammar S - aSa |bS |cis
LL(1), but not LR(1)
LR(1), but not LL(1)
Both LL(1) and LR(1)

Neither LL(1) nor LR(1)

ITHT S »aSa|bS|c®

www.FirstRanker.com
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LL(1), & LR(1) 72
92862716353.

LR(1), &= LL(1) 72

T LL(1) & LR(1)

T LL(1) T AT 2T LR(1)

Let w be any string of length n in {0, 1}". Let L be the set of all substrings of w. What is
minimum number of states in a non-deterministic finite automata that accepts L ?

n-—1
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Question Number : 90 Question Id : 9286274277 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

qIT AIerT {0, 1}* | @FaTe n & w &S Fed 2, 719 oy L, w 79t
Ae-TET (sub-strings) T HE g | L &l TTH1T F2d dTed TiA-TSe< 1%

TIZATSE HAeTHel H FAEATAT (states) il ~IAdH F=AT FT g ?
n-1
n
n+ 1
2" +1

Which statement is true with respect to ICMP packet ?

ICMP guarantees datagram delivery.
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ICMP can provide hosts with information about network problems.

92862716362,
ICMP is encapsulated with a TCP packet.
ICMP is encapsulated within UDP packet.
ICMP %2 = Ha&l H§ il9-AT7 FHd7 Tl g ?

ICMP STerms it fedast FiT et 3ar 2 |

ICMP ZI%2H (hosts) T da® i THEITEA & AT F TAAT T2
ICMP % TCP %= ¥ «fiav soafee SaT &1

ICMP UDP &3z ¥ faw ¢eaqafes grar 2 |

www.FirstRanker.com
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Which class does the IP address belong to, if the first byte is between 192 to 223 ?

Class A
Class B
Class C

Class D

IP UgH &9 FATH (class) & HaTad gRIT, ITS UgaT a1 192 H 223 F 3

2

J

www.FirstRanker.com
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Fa D

92862716368.

Find the class of the IP address : 230.10.25.110.

Class A

Class B

Class C

Class D

www.FirstRanker.com

IP 7= : 230.10.25.110 #T #1719 (class) HAHT 22

FATH A

41 B
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FATT C

92862716371.

FA T D

Given the |IP address 30.70.25.90, find the network address.

30
70
25

90

IP 3% 30.70.25.90 3T 747 2, e ds UgH 19 HiferT |
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30

92862716373.

70
25

90

Which IP address class cannot be subnetted ?
Class D
Class C
Class B

Class A

www.FirstRanker.com
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=4 IP TS FAT FT Aaice (subnetted) g7 AT ST HHAT ?

Fa D

FamH C

normal form relates to, bringing all the Quantifiers in the beginning of a formu
FOL.

Conjunctive
Disjunctive

Prenex

www.FirstRanker.com
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92862716384. Clausal

TR BT, FOL T AT % 05 | Tl FIErmras & arar g |

Feia2d (conjuctive)

fevsifa=a (disjunctive)

I (prenex)

FATSHA (clausal)

In alpha-beta pruning is used to cut off the search at maximum level only anc
is used to cut off the search at minimum level only.
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beta, alpha
92862716386,

alpha, alpha

beta, beta

TohT-ater I | FT TAN HAA ATAHAH Tq2 I TH ol -3
= form & ST 2 & FT AN Al <[AqH % I 9 &l
Fe-AT & for T srar g |

UTHT, 1T

UTHT, UTHT
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92862716388.

Expression { X | M4(X) | X € U} relates to operation in Fuzzy set.

Concentration
Dilation
Normalization

Union

aftrsrftr (X | MA(X) | X € U} wsit 3= (Fuzzy set) & fr sifaeom &
A5faa g ?

F#He 9T (Concentration)

www.FirstRanker.com
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T« 919 (Dilation)

92862716390.

T HATS o9

iz

www.FirstRanker.com

search is the best method to go for the game playing problems.

Optimal

Random

Heuristic

Stratified

www.FirstRanker.com
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T TAET TTeAeH & o 7= qaaH AT 2 |

Alfoeqe
T35+ (Random)
= %= (Heuristic)

vefewTEe (Stratified)

Match the following components of an expert system :

a. /O Interface i. Accepts users queries and responds to questions throu
I/O interface.

b. Explanation Module ii. Contains facts and rules about the domain.

c. Inference Engine ii. Gives the user, the ability to follow inferencing steps, at

point during consultation.

d. Knowledge Base iv. Permits the user to communicate with the system in a
natural way.

www.FirstRanker.com
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Options :
a—(i), b=(iii), c~(iv), d=(ii)
92862716397.
a—(iv), b(iii), c~(i), d(ii)
a—(i), b(iii), c=(ii), d—(iv)

a—(iv), b—(i), c~(ii), d{ii)
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T TFTe aeey & Mefetaa T2t (components) FT H@T e :

a. /O Z=Toa . TANTEAT i THATE ol TR F:dT g 37 |
SECRE & HIETH | TAT F IO 3471 ¢ |

b. THFATAAIT HisId ii. SIHA F a1 H T207 ST FAHT HT &TI07 Fiie
T

c. ZETHH T iii. TENTRAT &l 9OrHel & 2 et off g o

fAT-%aH1 (inferencing steps) FT AT
FLe =l TEAAT T2 FHedT g |

d. diersT-o | iv. TANTHRAT il T 27 o e & 917 99
(communicate) FZ HiT ATHATT TITT FLAT

a—(i), b(iii), c—(iv), d—(ii)

a—(iv), b(iii), c—(i), d—(ii)

a—(i), b(iii), c—(ii), d—(iv)

a—(iv), b—(i), c—(iii), d—(ii)

www.FirstRanker.com
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